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D65

0,0

   

1,0

   

2,0

R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

D65:Σx−R17M3,1(λ)=19,96
xR17M3,1=0,3186
yR17M3,1=0,3309
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D50
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2,0

R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

D50:Σx−R17M3,1(λ)=19,35
xR17M3,1=0,3418
yR17M3,1=0,3628
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R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P40:Σx−R17M3,1(λ)=20,07
xR17M3,1=0,3674
yR17M3,1=0,3814
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A00
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2,0

R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

A00:Σx−R17M3,1(λ)=21,36
xR17M3,1=0,4198
yR17M3,1=0,4205
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R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

E00:Σx−R17M3,1(λ)=21,18
xR17M3,1=0,3332
yR17M3,1=0,3333
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R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

C00:Σx−R17M3,1(λ)=20,06
xR17M3,1=0,3184
yR17M3,1=0,3204
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R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

P00:Σx−R17M3,1(λ)=21,01
xR17M3,1=0,3528
yR17M3,1=0,3556
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R17M3-Spektralwerte y−max(λ)=1
x−R17M3,1(λ)=A11l

−
R17M3,1(λ)+A12m

−
R17M3,1(λ)

+A13s
−

R17M3,1(λ)
A1j 1,3200 −0,6600 0,3400 (λ=570)

Q00:Σx−R17M3,1(λ)=21,73
xR17M3,1=0,3149
yR17M3,1=0,3087


